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Introduction 
 

 
 
The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS and  
A  Level English (9093), and to show how different levels of candidates’ performance (high, middle and low) 
relate to the subject’s curriculum and assessment objectives.  
 
In this booklet candidate responses have been chosen to exemplify a range of answers. Each response is 
accompanied by a brief commentary explaining the strengths and weaknesses of the answers.  
 
Each response is annotated with clear explanation of where and why marks were awarded or omitted. This, 
in turn, followed by examiner comments on how the answer could have been improved.  In this way it is 
possible for you to understand what candidates have done to gain their marks and what they will have to do 
to improve their answers.  At the end there is a list of common mistakes candidates made in their answers 
for each question.  
 
This document provides illustrative examples of candidate work. These help teachers to assess the standard 
required to achieve marks, beyond the guidance of the mark scheme. Some question types where the 
answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been 
omitted.  
 
The questions, mark schemes and pre-release material used here are available to download from Teacher 
Support. These files are:  
 
 

Question Paper 12, November 2016 

Question paper 9093_w16_qp_12.pdf 

Mark scheme 9093_w16_ms_12.pdf 

Question Paper 22, November 2016 

Question paper 9093_w16_qp_22.pdf 

Mark scheme 9093_w16_ms_22.pdf 

Question Paper 32, November 2016 

Question paper 9093_w16_qp_32.pdf 

Mark scheme 9093_w16_ms_32.pdf 

Question Paper 42, November 2016 

Question paper 9093_w16_qp_42.pdf 

Mark scheme 9093_w16_ms_42.pdf 

  
 
 
Past papers, Examiner Reports and other teacher support materials are available on Teacher Support at 
https://teachers.cie.org.uk 
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How to use this booklet 

Answers by real candidates in exam 
conditions. These show you the types of 
answers for each level. 

Discuss and analyse the answers with 
your learners in the classroom to 
improve their skills. 

Examiner comments 
are alongside the answers, 
linked to specific part of the 
answer. These explain 
where and why marks were 
awarded. This helps you to 
interpret the standard of 
Cambridge exams and 
helps your learners to 
refine exam technique. 

 

 

 

 
This explains how the candidate could have improved the 
answer. This helps you to interpret the standard of 
Cambridge exams and helps your learners to refine exam 
technique. 

 

 

 

 Lists the common mistakes candidates made in 
answering each question. This will help your learners to 
avoid these mistakes at the exam and give them the 
best chance of achieving a high mark. 
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Assessment at a glance 
 

 
For Cambridge International AS and A Level English Language, candidates: 
 
 take Papers 1 and 2 only (for the Cambridge International AS qualification) 
 
or 
 
 follow a staged assessment route by taking Papers 1 and 2 (for the Cambridge International AS 

qualification) in one series, then Papers 3 and 4 (for the Cambridge International A Level qualification) in 
a later series 

 
or 
 
 take Papers 1, 2, 3 and 4 in the same examination series, leading to the full Cambridge International A 

Level. 
 
Cambridge International AS Level candidates take: 
 

Paper 1 Passages Duration Weighting 

The paper contains three questions. 
 
Candidates answer two questions: Question 1, and either 
Question 2 or Question 3. 
 
Questions carry equal marks. 
 
Externally assessed.   50 marks 

2 hours 15 minutes 50% 

 
and 
 

Paper 2 Writing Duration Weighting 

Two sections: Section A and Section B. 
 
Candidates answer two questions: one from Section A and 
one from Section B. 
 
Questions carry equal marks. 
 
Externally assessed.   50 marks 

2 hours 50% 
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Cambridge International A Level candidates take:  
 

Paper 1 Passages Duration Weighting 

The paper contains three questions. 
 
Candidates answer two questions: Question 1, and either 
Question 2 or Question 3.  
 
Questions carry equal marks. 
 
Externally assessed.   50 marks 

2 hours 15 minutes 25% 

 
and 
 

Paper 2 Writing Duration Weighting 

Two sections: Section A and Section B. 
 
Candidates answer two questions: one from Section A and 
one from Section B. 
 
Questions carry equal marks. 
 
Externally assessed.   50 marks 

2 hours 25% 

 
and 
 

Paper 3 Text Analysis Duration Weighting 

The paper contains two questions. 
 
Candidates must answer both questions. 
 
Questions carry equal marks. 
 
Externally assessed.   50 marks 

2 hours 15 minutes 25% 

 
and  
 

Paper 4 Language Topics Duration Weighting 

The paper contains three questions, each on a separate topic 
area. 
 
Candidates answer two questions. 
 
Questions carry equal marks. 
 
Externally assessed.   50 marks 

2 hours 15 minutes 25% 
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Question 1a 
 

Example candidate response – high Examiner comments 

 

 
 
 

 
 

 Immediate and purposeful 
assessment of the tone of the 
passage. 
 
 
 

 A perceptive awareness of the 
effective language. 
 
 
 
 
 
 
 
 
 
 
 

 A developed account, albeit 
imperfectly expressed, of the effect 
of one phrase in diminishing Mr 
Abbott's authority. 
 
 
 
 
 
 
 
 
 
 

 An insightful awareness of the 
use and significance of pronouns 
and conjunctions. 

4 

3 

2 

1 1 

2 

3 

4 
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Example candidate response – high, continued Examiner comments 

 

 

 
 Recognition of the accumulated 

effect of repeated negatives. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 Excellent choice of verb. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 A perceptive paragraph; 

especially in dealing with the 
significance of the mirror, a mature 
understanding of language is 
demonstrated. 

7 

6 

5 5 

6 

7 
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Example candidate response – high, continued Examiner comments 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 An acute analysis of a three 
word phrase: ‘sandwich of emotive 
words’ is particularly apt, 
demonstrating an understanding of 
construction and effect. 
 
 
 
 
 
 
 
 
 
 

 Clear understanding of the 
paragraph structure and an 
awareness of the situation in which 
the passage is used. 
 

9 

8 8 

9 
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Example candidate response – high, continued Examiner comments 

 

 
 
 
 
 
 
 
 
 

 A succinct but significant final 
paragraph which summarises both 
a particular effect and that of the 
whole passage. 
 
 
 
 
 
 
 
 
Total mark awarded = 15 out of 15 

 
How the candidate could have improved the answer 
 
A perceptive and sometimes penetrating analysis of the passage which married specific language examples, 
usually correctly identified, to the intention of the speaker and the accumulated impact of the passage.  
 
A few points were omitted or not fully developed. These included the allocation of separate paragraphs for 
the mounting list of accusations and the final inability of the speaker to allow Mr Abbott any personal pronoun 
at all. However, as the mark testified, this was a very good answer indeed, with an excellent understanding 
of the nuances of language and of the rhetorical devices which the speaker employs. Band 1 

  

10 

10 
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Example candidate response – middle Examiner comments 

 

 
 
 
 
 
 
 

 There is no clear focus to this 
paragraph and as a result, nothing 
is usefully developed. The purpose 
of the speech is self-evident and 
the effect of the short paragraphs is 
not pursued. 
 
 
 

 The candidate is relating the 
events of the passage rather than 
considering the style and language 
employed. 
 

 Language effect needs to be 
more specific. 
 
 
 

 Another language example 
which needs more precise 
application. 
 
 
 
 
 
 

 Without further development, 
this paragraph has little bearing on 
style and language. 

5 

4 

3 

2 

1 
1 

2 

3 

4 

5 
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Example candidate response – middle, continued Examiner comments 

 

 
 
 
 
 

 This is a return to point 4, but 
this time, with more specific 
attachment to language effect. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 The technique is recognised but 
the specific effect of withholding Mr 
Abbott's name is not specified – ‘a 
negative way’ is too generalised. 
 
 

 Recognition of two language 
features. 
8 

7 

6 6 

7 

8 
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Example candidate response – middle, continued Examiner comments 

 
 

 
 
 
 
 
 

 This demonstrates an 
understanding of the purpose of the 
speech but doesn't consider style or 
language. 
 

 A rather confused and assertive 
conclusion which makes no further 
attempt to consider style and 
language. 
 
 
 
 
 
Total mark awarded = 7 out of 15 

 
How the candidate could have improved the answer 
 
There was some engagement with the passage with an understanding of aspects of its style and purpose, 
but the focus was very variable and rhetorical devices employed were described in very general terms. 
 
The response would have benefited from a more certain sense of direction: the points made tended to be 
disconnected and this prevented any clear examination of the progression of the passage. 
 
There was a very uneven focus on style and language. The candidate sometimes explained the contents of 
the passage and sometimes speculated on aspects of the writing which had little relevance to the question. 
 
The critical vocabulary used in examining the examples tended to be highly generalised and the effects 
described needed more precise definition. Band 4 
  

10 

9 

9 

10 
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Example candidate response – low Examiner comments 

 

 
 
 
 
 
 
 
 
 
 

 The tone of the opening and its 
effect is understood. 
 
 
 
 
 
 

 The effect of the use of 
alliteration is broadly acknowledged 
but might benefit from more specific 
definition. 
 
 
 
 
 

 Mistaken language feature. 
 
 
 
 
 
 
 
 
 
 

 
 Very generalised description of 

effect. 
4 

3 

2 

1 1 

2 

3 

4 



Question 1a 

16 Cambridge International AS and A Level English 9093  
 

Example candidate response – low, continued Examiner comments 

 

 
 
 
 

 A broad description of effect 
which needs more specific 
application. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 This paragraph comments on 
the contents of the speech rather 
than the effects of language. 
 
 
 

 
 This is a key feature which 

needs development and precise 
reference to language examples. 
 
 
Total mark awarded = 5 out of 15 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

7 

6 

5 5 

6 

7 
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How the candidate could have improved the answer 
 
This response made a few good points but was short and would have benefited from a much fuller 
consideration of specific examples. 
 
A more exact description of the effects of language would have been helpful, for instance, avoiding phrases 
such as ‘help catch the reader’s attention’. Any piece of worthwhile writing tries to capture the reader’s 
attention; the question to be answered is how this is achieved. 
 
The material selected was not always of primary importance. There was one quite lengthy but 
inconsequential consideration of commas and hyphens but the concluding paragraph of the text, which was 
of much more importance, was not examined.  
 
A stronger and clearer sense of progression through the development of the passage was required and a 
clearer connection between the examples chosen. Band 3 
 
Common mistakes candidates made in this question 
 
The examiner expected candidates to: 
 
 identify language examples and features which they considered significant in establishing the style of 

the passage 
 comment on specific effects of the chosen language examples and consider their contribution to the 

effect of the passage as a whole 
 support their comments with an economical use of quotations. 
 
The majority of candidates approved of Ms. Gillard’s outrage at Mr Abbott’s behaviour and this sometimes 
resulted in a lack of critical distance and focus in approaching the passage. This was manifested in some 
responses which listed the success and justice of the accusations without examining the rhetorical devices 
employed. 
 
Relatively few candidates considered the effect of the short, punchy paragraphs which allowed the 
reader/listener to absorb and understand each accusation in turn. 
 
There was rather uneven consideration of the whole passage, the opening paragraphs often receiving close 
attention but the trenchant conclusion given little examination. 
 
Not all candidates picked up on the mixture of formal and informal styles in the approach of the speaker. The 
protocol observed in the opening address was often remarked upon but rarely contrasted with the slangy 
informality of the later paragraphs. 
 
Weaker responses concentrated at too great a length on immediately recognisable features such as 
repetition, and in doing so failed to consider other equally significant elements of the passage. 
 
This passage was generally well understood, but the answers would have benefited from a clearer sense of 
the progression from a calm but determined opening to the final sentence with its suggestion of ‘job done’. 
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Question 1b 
 

 

Example candidate response – high Examiner comments 

 
 

 
 Immediate engagement with the 

brusque, no-nonsense tone of the 
original. 
 

 Awkward expression. 
 
 

 A cutting remark which would fit 
comfortably in the sharpest section 
of the speech. 
 

 A succession of terse 
sentences which reflect the writer's 
determination to deal decisively 
with Mr Abbott. 
 
 
 
 
Total mark awarded = 9 out of 10 

 
How the candidate could have improved the answer 
 
This was a purposeful answer which successfully adopted much of the feistiness of the original passage. 
However, in adopting this very direct tone, it didn’t fully realise the possibilities of showing a more personal 
side to Ms Gillard’s reflections. 
 
There was some awkward expression which might have been corrected by a careful check. 
  

4 

3 

2 

1 1 

2 

3 

4 
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Example candidate response – middle Examiner comments 

 
 
 

 An immediate immersion in the 
very direct style and tone of the 
original. 
 
 
 
 

 The direct tone and unadorned 
style of the original are sustained. 
 
 

 This provides a convincing 
explanation for Ms Gillard's refusal 
to use Mr Abbott's name. 
 
 
 
 

 A suitably terse and combative 
concluding sentence. 
 
 
Total mark awarded = 7 out of 10 

 
How the candidate could have improved the answer 
 
This response had a suitably direct approach which made intelligent use of some of the original material. 
However, the possibilities of using the diary form to enlarge upon the material of the speech were not taken 
and the resulting tone lacked variety. 
 
There was also a repetitive quality to the short, undeveloped sentences which was effective in places but lost 
its impact in the second paragraph. 
 
  

4 

3 

2 

1 1 

2 

3 

4 
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Example candidate response – low Examiner comments 

 
 

 

 The diary form is not properly 
established, but the opening 
sentence clearly echoes the tone 
and purpose of the original. 
 
 
 
 
 
 

 Errors of expression. 
 
 
 
 
 

 Improbable conclusion for a 
diary entry. 
 
Total mark awarded = 6 out of 10 

 
How the candidate could have improved the answer 
 
This response got straight to the point in establishing a credible style and sense of purpose and there was 
some effective use of the rhetorical question. 
 
The answer lacked any really imaginative addition to the original material and any interesting use of the diary 
form. As a result, the response had no real development but was a series of perfectly credible statements 
with little that added any extra dimension to the speech. 
 
Common mistakes candidates made in this question 
 
The examiner expected candidates to: 
 
 identify aspects of the speech which would be suitable to include in the more personal form of a diary 

entry 
 develop the chosen elements of the text in a style which reflected the concerns of the passage and the 

character of the writer 
 check the accuracy of their writing (this is of especial importance in this section of the question). 

 
The wording of the question asked candidates to base their answers closely on the material of the speech; 
style and language were not prescribed. This gave candidates the opportunity to make full use of the diary 
form and the possibility of adjusting the style of the original to reflect a more personal mode of expression. 
Unfortunately, this option was not generally taken – too often the diary suggested that the writer publicly 
addressing herself. 
 
There were some purposeful responses, conveying Ms Gillard’s exasperation and combativeness, but 
relatively few took the opportunity to give an imaginatively different perspective on the material. 
 
Careful checking for accurate expression is essential in the directed writing exercise but this was not always 
in evidence. 
 
 
 

3 

2 

1 1 

2 

3 
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Question 2a 
 

 

Example candidate response – high Examiner comments 

 

 
 
 
 

 
 Nothing is gained by this 

definition of audience and purpose.  
 
 
 
 
 
 
 
 
 

 Perceptive understanding of 
word selection. 
 
 
 
 
 
 
 

 Perceptive understanding of the 
effect of the language feature. 
 
 

 Perceptive awareness of the 
use of vowel sounds. 
 
 
 

 Precise description. 
 
5 

4 

3 

2 

1 1 

2 

3 

4 

5 
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Example candidate response – high, continued Examiner comments 

 

 
 
 
 
 
 
 
 
 
 
 

 Excellent awareness of nuance. 
 
 
 
 
 

 An interesting and enjoyable 
development of the author's 
personification of the natural world. 
 
 
 
 
 
 
 

 Recognition of language feature 
and a plausible interpretation of 
effect. 
 
 

 Excellent understanding of verb 
choice. 
 
 

9 

8 

7 

6 6 

7 

8 

9 
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Example candidate response – high, continued Examiner comments 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 A clear recognition of change of 
tone in the last paragraph. 
 
 
 

 Interesting word choice. 
 
 
 

 The reference to ‘Paradise Lost’ 
is a very slight digression but fully 
justified and a demonstration of the 
candidate's confidence and 
enjoyment of the passage. 
 
 
 
 
 

 Awareness of the whole 
passage. 
 
 
Total mark awarded = 15 out of 15 

 
 
 
 
 
 
 
 
 
 
 
 

13 

12 

11 

10 10 

11 

12 

13 
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How the candidate could have improved the answer 
 
This was a very full and perceptive response which received full marks but this does not imply that there are 
no areas open to improvement. 
 
The opening paragraph speculated about the possible target audience for the passage, which in this case 
served no useful purpose in defining style, tone and language. The focus of the whole paragraph was 
uncertain and there was no clear relationship between a formal tone and the emphasis on an ‘exotic feel’ to 
the location. 
 
After the first paragraph, there was largely unwavering attention to the effects of style and language, though 
there is no reason to think that knowing the author’s native country makes him more ‘relatable’. Band 1 
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Example candidate response – middle Examiner comments 

 

 
 
 
 
 
 
 

 An opening paragraph which 
demonstrates recognition of the key 
feature of the passage. 
 
 
 
 
 
 
 
 
 
 

 A developed but economical 
account of the scene setting of the 
passage. 
 
 
 
 
 
 
 

 An effective and personal 
interpretation of the image. 
 
 
 
 

 A good use of the text to 
demonstrate how the passage 
employs personification. 

4 

3 

2 

1 1 

2 

3 

4 
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Example candidate response – middle, continued Examiner comments 

 
 

 
 
 
 

 A perceptive awareness of 
language effect. 
 
 
 
 
 
 
 

 The image of the ‘kindly 
monster’ is open to different 
readings and this is a perfectly 
acceptable view. 
 

 Another language feature which 
has a variety of allowable 
interpretations. 
 
 
 
 
 

 Recognition of a drastic change 
of tone and direction in the 
passage. 
 

 Developed attention to the 
paragraph, but fails to consider the 
final sentence and the implication of 
a spiritual rather than a physical 
malaise. 
 
 
Total mark awarded = 10 out of 15 

 
How the candidate could have improved the answer 
 
This response demonstrated a consistent understanding of the passage and used a good range of language 
examples. However the effect of some of these examples might have been demonstrated more precisely. 
 
‘The kindly monster’ taking ‘discreet sips’ was described as creating a ‘fairytail (sic) effect’, which is perfectly 
allowable as a general impression. However, the key effect is the contrast between the massive size of the 
monster (the sea) and the delicacy implied by ‘discreet sips’. 
 
The change of tone in the final paragraph might have been more specifically examined. The writer’s sense of 
malaise was described as his ‘negative feelings’, a very general application that doesn’t suggest the sense of 
alienation that was intended. 
  

9 

8 

7 

6 

5 5 

6 

7 

8 

9 
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Example candidate response – low Examiner comments 

 
 

 
 
 
 
 
 
 
 

 A fairly purposeful opening, no 
repetition of the question and 
making a reasonable point about 
the tone of the passage. 
 
 

 A very general point, which fails 
to specify what picture the author is 
trying to paint. 
 
 
 

 
 A lengthy quotation which 

serves no useful purpose. 
 
 
 

 The purpose of personification is 
described but how it brings the 
extract together is not developed. 
 

 ‘alive and liberating’ needs more 
specific references to language 
examples. 
 
 
 

 
 ‘Colour and (ad)venture’ lacks 

precise referencing. 
 
 
 

 The use of the simile is 
considered in general terms, but no 
attempt is made to examine the 
author’s use of a library as a simile, 
or the image of the ‘kindly monster’. 
 
 
Total mark awarded = 3 out of 15 

 
 
 

7 

6 

5 

4 

3 

2 

1 1 

2 

3 

4 

5 

6 

7 
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How the candidate could have improved the answer 
 
This was a very short response which needed to consider a more comprehensive range of language 
examples and to do so in greater depth and detail. ‘The author is trying to paint a picture in our heads’ is not 
an examination of style or language. 
 
Quotation could have been used far more sparingly and as a result would have been more effective. Over 
half of the second paragraph is taken up by quoting the original text, suggesting that quotation was used to 
avoid the need for comment. 
 
The use of both personification and simile were commented on, but in very general terms which failed to 
demonstrate an understanding of specific effects. 
 
Common mistakes candidates made in this question 
 
Some candidates devoted their first paragraph to deciding the probable audience for the passage. This was 
a largely wasted effort, especially as the guesswork was often wrong. 
 
The main features of the opening were generally well understood and commented on, especially the 
personification of the natural world. The second paragraph was more sketchily considered and some 
significant features: the kindly monster, sunbathing trees and careering birds were ignored or mentioned only 
in passing. 
 
There was also uneven attention to the final paragraph, with its sudden qualification of all that has gone 
before. Some candidates ignored the change of direction and tone, with only a minority seizing on the 
significance of the final sentence. 
 
As always, the stronger responses tended to come from those candidates who spread their attention 
throughout the whole passage and having made a point, moved quickly onto the next. 
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Question 2b 
 

 

Example candidate response – high Examiner comments 

 
  
 

 
 Atmospheric opening which is 

cleverly contrasted with that of the 
passage. The choice of ‘huddled’ 
and ‘clutching’ is particularly 
effective. 
 

 Use of personification. 
 

 Onomatopoeia echoes the use 
of ‘rustling’ and ‘lapping’ in the 
passage. 
 

 Striking image. 
 
 
 
 
 

 
 Deliberate change of tone 

which reflects that of the passage. 
 

 Cleverly achieved bathetic 
effect: hunger rather than a sense 
of danger or alienation creates the 
change of tone. 
 
Total mark awarded = 9 out of 10 

 
How the candidate could have improved the answer 
 
This was a fluent response with excellent understanding of the stylistic features of the extract but it might 
have been even more interesting had it created a more independent narrative. Candidates were invited to 
write the opening of a passage based closely on the style and language of the extract, but the specification 
did not demand that the shape and development of the passage were to be replicated. 
 
The response would have benefited from a stronger contrast of settings and even though the change of 
tense and tone worked very well, there was no need to follow the exact shape of the original. 
  

6 

5 

4 

3 

2 

1 

1 
2 

3 

4 

5 

6 
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Example candidate response – middle Examiner comments 

 
 

 A direct and emphatic opening 
sentence which recalls the style of 
the original. 
 

 A mundane detail which seems 
out of place. 
 

 This echoes ‘I slipped on a 
dressing gown’ in the passage, but 
isn't really necessary. Candidates 
are asked to respond using the 
style and language of the passage. 
They don’t need to replicate the 
situation. 
 

 An overlong and clumsy 
sentence which tries too hard to 
echo the descriptions of the island’s 
colours. 
 

 An odd choice of verb which 
doesn't tally with the ‘utter control’ 
mentioned later in the sentence. 
 

 In the spirit of the original, but 
very improbable if read literally. 
 
Total mark awarded = 6 out of 10 

 
How the candidate could have improved the answer 
 
This response made a purposeful attempt to replicate the style and language of the original but could have 
been more confident in developing its own independent narrative. 
 
With a stipulated word boundary of 150 words, the writing needs to be succinct. The phrase ‘a watercoloured 
(sic) painting done by a famous artist I studied in college’ added little to the description of the colours of the 
African sky. 
 
Bearing the word restriction in mind, it might have been better to have devoted the whole passage to its most 
dramatic feature: the herd of elephants.  
 
  

6 

5 

4 

3 

2 

1 
1 

2 
3 

4 

5 

6 
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Example candidate response – low Examiner comments 

 

 
 

 
 
 
 
 
 
 

 Several very awkward 
sentences in which either the 
construction is faulty or the 
meaning is uncertain. 
 

 This qualification is given no 
context and the sentence has no 
logical progression. 
 
 
 
 
 

 A plausible echo of the original 
style. 
 
 

 Uneven expression and altered 
text. 
 
 
 
 
 
 

 An interesting development of 
the contrasting moods of the 
passage. 
 

 A metaphor which echoes the 
language of the text and gives the 
response quite a purposeful 
conclusion. 
 
Total mark awarded = 4 out of 10 

 
 
 
 
 
 
 
 
 
 
 
 
 

6 

5 

4 

3 

2 

1 
1 

2 

3 

4 

5 

6 
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How the candidate could have improved the answer 
 
There was an attempt to introduce elements of the text’s style and language into the response but the effect 
was very variable, and accuracy of expression suffered in the process. 
 
The first paragraph would have benefited from a clear sense of the atmosphere the candidate was trying to 
create. In the answer, the images of screaming buildings and surroundings ‘dipped in culture’ seemed 
disconnected and arbitrary. 
 
The second paragraph had a greater sense of cohesion, together with a purposeful conclusion, but the more 
matter of fact style bore little resemblance to the original. 
 
There were significant errors of expression throughout the response which with careful checking would have 
been improved. 
 
Common mistakes candidates made in this question 
 
This question produced some interesting and imaginative work but certain elements of the style of the text 
were not reproduced. 
 
The most obvious feature of the passage, the personification of the natural world, was generally understood 
and replicated. Alliteration was another feature that was commonly included, but other aspects of the writing 
tended to be ignored. In attempting to replicate the quirky imagery of the text, some candidates produced 
images which were weak or simply eccentric. 
 
The major problem proved to be an unwillingness to depart too far from the structure of the original text. This 
sometimes resulted in rather contrived responses and also inhibited the candidates’ capacity to produce a 
strongly personal account of an event in their own country. 
 
In the low example, the candidate significantly exceeded the specified word limit. While transgression does 
not directly result in the deduction of marks, this script is an example of how a lack of conciseness can be 
self-penalising. 
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